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S=6.1 m2  --- 

PZ:23°C  --- 

L=194 [mm] 1.68 - Tělocvična

Systém VARIONOVA* lp=31.6 m

tm=34°C Vinyl 8 mm

S=7.4 m2  --- 

PZ:24°C  --- 

L=190 [mm] 1.68 - Tělocvična

Systém VARIONOVA* lp=39.2 m

tm=34°C Vinyl 8 mm

S=7.7 m2  --- 

PZ:24°C  --- 

L=190 [mm] 1.68 - Tělocvična

Systém VARIONOVA* lp=40.8 m

tm=34°C Vinyl 8 mm

S=20.1 m2  --- 

PZ:22°C  --- 

L=289 [mm] 1.68 - Tělocvična

Systém VARIONOVA* lp=72.4 m

tm=34°C Vinyl 8 mm

S=21.3 m2  --- 

PZ:24°C  --- 

L=140 [mm] 1.68 - Tělocvična

Systém VARIONOVA* lp=152.5 m

tm=35°C Vinyl 8 mm

S=20.2 m2  --- 

PZ:24°C  --- 

L=171 [mm] 1.68 - Tělocvična

Systém VARIONOVA* lp=118.5 m

tm=34°C Vinyl 8 mm

11 1.68 - Tělocvična PZ 4 11.4 644 200 98.2 11.2 4.02 (4.02) 0.18 1.4 2,5

10 1.68 - Tělocvična PZ 4 13.3 751 200 114.8 11.2 7.28 (7.28) 0.21 1.7 6.00 Otv.

9 1.68 - Tělocvična PZ 4 13.0 736 200 111.1 11.2 6.54 (6.54) 0.20 1.6 3.00

8 1.68 - Tělocvična PZ 4 12.0 679 200 112.3 11.2 6.67 (6.67) 0.20 1.6 3.15

7 1.68 - Tělocvična PZ 4 15.6 882 200 97.7 11.2 4.44 (4.44) 0.18 1.5 2,5

6 1.68 - Tělocvična PZ 3 17.0 927 200 114.0 12.0 6.00 (6.00) 0.19 1.5 2.75

5 1.68 - Tělocvična PZ 3 16.2 886 200 117.5 12.0 6.65 (6.66) 0.20 1.6 3.10

4 1.68 - Tělocvična PZ 3 14.7 805 200 116.3 12.0 6.26 (6.26) 0.20 1.6 2.85

3 1.68 - Tělocvična PZ 3 15.3 838 200 118.7 12.0 6.84 (6.84) 0.20 1.6 3.35

2 1.68 - Tělocvična PZ 3 16.9 924 200 118.8 12.0 6.97 (6.97) 0.20 1.6 3.70

1 1.68 - Tělocvična PZ 3 17.9 976 200 114.8 12.0 6.18 (6.18) 0.20 1.6 2.83

Číslo okruhu Místnost

(OT)

Zóna

[m2]

okruhu

Plocha

[W]

(OT)

okruhu

Výkon

[mm]

Rozteč

[m]

potrubí

délka

Celková

[K]

spád

Teplotný

[kPa]

ztráta

Tlaková

[m/s]

w

Rychlost

[l/min]

Průtok

ventilu

Nast.

11 1.68 - Tělocvična PZ 1 18.0 993 200 109.8 11.7 5.58 (5.58) 0.19 1.5 2.75

10 1.68 - Tělocvična PZ 1 17.0 940 200 113.5 11.7 6.22 (6.22) 0.20 1.6 3.10

9 1.68 - Tělocvična PZ 1 15.5 855 200 113.4 11.7 6.08 (6.08) 0.20 1.6 2.98

8 1.68 - Tělocvična PZ 1 15.4 852 200 113.5 11.7 6.34 (6.35) 0.20 1.6 3.30

7 1.68 - Tělocvična PZ 1 16.9 935 200 114.6 11.7 6.77 (6.77) 0.20 1.6 5.10

6 1.68 - Tělocvična PZ 1 17.7 979 200 111.1 11.7 6.14 (6.14) 0.20 1.6 3.05

5 1.68 - Tělocvična PZ 2 16.2 958 200 93.6 10.0 5.90 (5.90) 0.21 1.6 2.92

4 1.68 - Tělocvična PZ 2 11.3 667 200 101.7 10.0 6.82 (6.83) 0.21 1.7 6.00 Otv.

3 1.68 - Tělocvična PZ 2 12.1 718 200 99.5 10.0 6.42 (6.43) 0.21 1.7 3.50

2 1.68 - Tělocvična PZ 2 12.4 733 200 102.0 10.0 6.73 (6.73) 0.21 1.7 4.70

1 1.68 - Tělocvična PZ 5 10.6 648 200 85.5 9.0 4.89 (4.89) 0.20 1.6 2.63

Číslo okruhu Místnost

(OT)

Zóna

[m2]

okruhu

Plocha

[W]

(OT)

okruhu

Výkon

[mm]

Rozteč

[m]

potrubí

délka

Celková

[K]

spád

Teplotný

[kPa]

ztráta

Tlaková

[m/s]

w

Rychlost

[l/min]

Průtok

ventilu

Nast.

1 2 3 4 5

1.68 - Tělocvična:

ZSTel   M 1:16

5. - Beton hutný - 2300 : (250 mm)

4. - TI EPS 40 40mm : (50 mm)

3. - Systémová deska VARIONOVA* 11 mm : (11 mm)

2. - Baumit Alpha* : (70 mm)

1. - Vinyl 8 mm : (8 mm)

H=7281 Pa   Qc=13846 W   Mh=17.2 l/min   dPmax=7279 Pa

RZ 1 - 1.NP (11)  tp=40.0 °C  ts=28.4 °C  dt=11.6 K

H=6826 Pa   Qc=13187 W   Mh=17.6 l/min   dPmax=6824 Pa

RZ 2 - 1.NP (11)  tp=40.0 °C  ts=29.2 °C  dt=10.8 K
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